B 1L = Bl A 1062 4E 58 — BRI =R E —REEH (B R4
R IR RIS R RE RS

— S (SEAREC R RUREAS  EREEES TSRS
1 e SO = s 8O =01 gresimsEm o)

. fO+h)—-f(O0) 3y _
S W=1 gy f'D=-1 hlg})] h = D) g(2) : ®) &'0)=0
2. B /) S@O=2 qrRgiE g 2 Q)
o fat3n o flasdn) o f@r3n - fla=2m o
(A) h—0 h (B) 3h—0 h ©) h—0 h
L f@eI-f@ 3 fas3)-f@)
(D) 2h—0 2h 2 (E) 3h—0 2h

3 e D003 i /()= g we e Losim P s LB - © %yl
B I FSIEEERE? _O)
wes @ sz s (20 gyomk © masE s CLO) oy Ly hiRats 3Ty =3
27
Oy L iyasts 3+ =3 @/ %) wEms L rmmmimss 4

ZERE

EEHEEL L [2 |3 14 [5 |6 |7 (8 |9 |[10f11 |12]13|14]15]16

(=S 8116 (2 [32 [40 |46 |50 |54 |58 |62 |66 |68 70|72 |74 |76
4

| B Y =X L ggmp e b 37 st et ()
0. Bz S () g L) =81l g v =S (0) e a= 1 i (0= )
3. DA = s Y = () B R A | BT Y =S AR LY
= (0.5) | (1L9) 5 (229) seprepin 1o O 2in g
{ -2, 0 x<2
f(x)=1",
4, BB ax’ =2bx W x>2 g v =2 gruppmoy | REEEA L bR E_A)
5. CUHTG I8 AB Y5(E X di L . A% CD 76 X sty 1 . ALECREE C | D {5y
g y=15-X" | SR EIBRR TR (S)
6.1 /) pagmpmsnR waaoasan 2,/ (0= pr=/0)
fEr=—1, x=0 x=1 gk’ ) 5 @
7. BT Y =Y B Y =35k 4 S mp A | SR K ORSE B ()

f(x)z—kx4+x3—2x2+2x+3 . ) R

8. = RHEL 2 HIET 2B R RS, oK & AyEEEB_)
" f(tydt = x° -8

ot o SOU=X "8 e wa- ()



10,5 P() 5y prpmsiE | A SURBON KRS 0 . TR | | CAn B A
21, g =P) = pm s =1 x= 1 A R R R
0420 +2+C (Horp C paesy) | 3ok p(x) B_(10)

1L REG x=3 | V=% 81V = 2% g ¥ R e AR (1)

—-P1--
BRI 10622 4EE — B HIRm =8B E _REFS (B R
AR BREEREENRSREED)F

X . F'(x+h)-F'(x) _
1.5 F(x)= jl (57 +3ndt " lim p =
13,3k Y =X T30 =63 g v =" =23 gy o R ER R _(13)
14, B—F L EB1070Ek, BAREHE F—EF BN TENET, KiEFEERELEm L
H A HIRETE Fs_(14) YRSy
[ 73 a-2 =
15. 58k~ 9 (15)

16 kE € X T =y g (16)

= - srmpemE: stisemnc ()= Y e ey



(EEB)BNLRETAM 1062 FE 2R =BR R _EHF(ERE)

5] 80773

DESR : SR

—P)--

i

— LB (EE2NHR - Rif—BER4S - ERERESY - MEEEEMAED)

(1) (2) (3)
(4B) (CE) (DE)
—EHxE
EEkgEL 1 [2 |3 (4 [5 |6 |7 [8 |9 [10]11 |12[13]14]15]16
(= 811612 [32 [40 |46 |50 |54 |58 [62 |66 |68 |70 |72 |74 |76
4
€)) (2) 3) 4)
3
15— 9 =17 7 1 a=7,b=1
2
®) (6) (7) (8)
3
k>=
205 2x* —4x* +5 0<k<4 8
©) (10) (11) (12)
+2 4x* +2x* +4x+1 367 10x +3




) ) ) 15
8 12967 18+ 37 Ar’
= MR stnem S ()T S B I B

(EEB BB 1062 £ 5 — BN =RBE RS (B RE)

“FaiF ] 80774

iR -

JESE -

2

— LB (FEEHR - RE—RIRG4S - EWEBRERY - MEBEHEAMARED)

(1) (2) (3)
ZERE
EEEEL L [2 |3 14 (S5 |6 |7 (8 |9 |[10f11 |12]13|14]15]16
(=5 811612 [32 [40 |46 |50 |54 |58 |62 |66 |68 70|72 |74 |76
4
(1) (2) 3) 4)
(5) (6) (7) 8)




©) (10) 99, (12)

13 a4 (15 (16)

SRR st (V)T 3 A g et e b s B



